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1.

ECONOMICS
Paper - 1

The value of cross elasticity of demand
between the price of petrol and the
demand for motor bike unit is

(A) Positive
(

)

B) Negative
(C) Zero

(D) Infinite

. Accordingtothe law of variable proportions,

a rational producer concentrates on the
range over which the marginal products

of variable factor of production are
(A) Positive and increasing
(B) Positive but decreasing
C)

)

D) Negative and decreasing

Positive but remains constant

(
(

. According to Bernoulli, a rational

individual will take decision under risky
and uncertain situations on the basis of

(A) Expected monetary value
(B) Expected utility
(C) Actual monetary value
(D) Actual utility
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bnn
4.

The size of the pay-off matrix of a
game can be reduced by using the
principle of

(A) Game inversion
(B) Game rotation
(C) Dominance

(D) Game transpose

. The economist who proposed ‘Sales

maximization’ as the objective of a
modern firm is

(A) R. Marris
(B) O. Williamson
(C) W. J. Baumol
(D) W. Fellner

. The Quasi rent disappears in the

(A) Long-run

(B) Short-run

(C) Very short period
(D) Market period

. The economist who is associated with
the general equilibrium analysis is

(A) Alfred Marshall
(B) Kaldor

(C) Hicks

(D) Leon Walras
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8.

10.

11.

Which of the following is required to rule
out the possibility of contradictory results
in Kaldor-Hicks criterion ?

(A) Scitovsky single criterion
(B) Bergson criterion

(C) Scitovsky double criterion
(D) Samuelson criterion

. Which of the following is not a fundamental

theorem of welfare economics ?
(A) Vilfredo Pareto Theorem

(B) Kenneth Arrow and Gerard Debreu
Theorem

(C) Arrow’s Impossibility Theorem
(D) Rybczynski Theorem

People smoking more after buying life
insurance policy is an example of

(A) Adverse selection

(B) Symmetric information
(C) Moral Hazard

(D) Risk aversion

Which of the following is rightly matched
with whole sale price index ?

(A) It tracks prices at the factory gate
before retail level

(B) It tracks prices at the retail level
only

(C) It tracks prices at the consumer
level only

(D) It tracks prices at the whole market
only

8.

10.

11.

sledR-gls WussHl ERmeull
yRENAL wsudl Harar w2 Al
wdl AR W B 7

(A) 28lAazdl Astdl Hugs

(B) o431 HIUES

(C) SAdRAA HHQNL HIVES

(D) ayicuAdl HIuES

DAl 2 seagiasl wduraiAl
HNYd yHy Yl ?
(A) [ack) WA wd

(B) :u A A RS Iy uRA
(C) NAAN wuUw URA

(D) Quosz vy

wart el Nellzll dlul sus @
dY YU R B, q o
s Geugrel V.

(A) Wagn yigoll

(B) ibid ulgdl

(C) Alas =ise
(D) v U wRILHL

Azl 88, aruofn (Bud yus
uis WA QoY A N B 2
(A) s wR AL WA 4 wdal ksedl

e urdl B 0l sndd D
(B) q, s s 2R o (Hdl And B
(C) & s il R o (udl Al B

(D) A zsd @iy siorwial o Budl

-

Jng 8




12.

13.

14,

In Keynesian theory of demand for
money, the total demand for money

expressed in real terms is a function of
(A) Exports

(B) Imports

(C) Income and interest rate

(

D) Price level

The satisfaction from savings can be

considered in terms of the following
(A) Precaution

(B) Foresight

(C) Improvement

(D) All of the above

“Macroeconomics is that part of the
economics which studies the overall
averages and aggregates of a system,”

stated by

(A) Edward Shapiro
(B) K. E. Boulding
(C) R. G. D. Allen

(D) G. Ackley
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15.

16.

17.

18.

The value of which of the following is
entered into the computation of GDP ?

(A) Raw materials
(B) Intermediate products
(C) Final products

(D) Inventories

The shape of the aggregate demand curve
in the classical theory of employment is

(A) Horizontal line
(B) Vertical line

(C) Positively sloped
(D) Negatively sloped

‘Old and soiled currency notes drive out
new currency notes out of circulation’.

This is the example for

(A) Keynes Psychological Theory
(B) Gresham’s Law

(C) Goodheart Law

(D)

Monetary Law

The ‘Money on wings’ refers to the
function

(A) A medium of exchange
(B) A measure of value
(C) A store of value

(D) Deferred payments
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19.

20.

21.

22.

Dear Money Policy means
(A) High supply of money
(B) Liquidity glut

(C) High interest rates

(D) Low interest rates

Who has introduced the concept of

multiplier in employment ?
(A) R. F. Khan

(B) Lord Keynes

(C) Prof. Hawtrey

(D) Prof. A. C. Pigou

Events A and B are mutually exclusive if
(A) P(AUB)=0

(B) PAnB)=0

(C) P(AuUB)=P(A).P(B)

(D) P(AnB)=P(A) + P(B)

If in a binomial distribution, n = 5 and
mean = 2, then what is the value of q ?

(A) 0.40
(B) 0.50
(C) 0.60
(D) 0.70
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(A) P(AUB) =0
(B) PANB)=0

(C) P(A U B) = P(A) . P(B)
(D) P(A n B) = P(A) + P(B)
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23.

24.

25.

What is the formula for determining the

standard error of correlation coefficient ?

(A) SE = 1+r
n

1-r?
( _\/—m
1-r?

(C) SE= -
_1-r

©) se= 1L

Which of the following assumptions
are required to show consistency,
unbiasedness and efficiency of the
OLS estimator ?

(i) E(u)=0
(i) vVar(u) =c?
(i) Cov(u, u,_)=0Vjand

(iv) u,n N (0, 67

(A) (i) and (iv) only
(B) (i) and (iii) only
(C) (i), (ii) and (iii) only
(D) (i), (ii), (iii) and (iv)

F-test is also known as
(A) Probability test

(B) Variance-ratio test
(C) Sampile test

(D) None of the above
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26. In the model Y =B, + B, X, + u, the

term u,
(A) Represent the missing values of Y

(B) Acts as proxy for all the omitted
variables that affect Y

(C) Acts as proxy for important variables
that affect Y

(D) Represent measurement error

27. If there is perfectly positive correlation

between two variables, then

_ 1
(A) b, =

yx

o

(B) r=

yx

o

() b, =}

xy

(D) None of the above

28. How many parameters are there in a

normal distribution ?
(A) 1
(B) 2

(C) 3

(D) None of the above
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28.
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29.

30.

Which of the following are plausible
approaches to deal with residual
auto-correlation ?

(i Take logarithms of each of the

variables

(i) Add lagged values of the variables
in the regression equation

(iii) Use dummy variables to remove
outlying observations

(iv) Try a model in first differences form
rather than in levels

(A) (i) and (iv)

(B) (i) and (iii)

(C) (i) and (iii)

(D) (i), (i), (iif) and (iv)

What is the meaning of

‘heteroscedasticity’ ?

(A) The variance of the dependent

variable is not constant

(B) The variance of the error terms is not

constant

(C) Theerrors are notlinearly independent

of one another

(D) The errors have non-zero means
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31. Which test is used to test whether two 31. § RS qeRED 923 siy D Y

32.

33.

qualitative variables have relation or
not ?

B A ¥l udlaer R MR sat wdaed
Guallal wiy B ¢

(A) t-test (A) t-udlagl
(B) F-test (B) F-udaws
(C) x*test (C) xP-udaL

(D) None of the above

If B is the technology matrix, then the
Hawkins-Simon conditions are

(A) The main diagonal elements in [-B
must be positive and determinant
[I-B| must be positive

(B) The main diagonal elements in I-B
must be negative and determinant
|I-B| must be positive

(C) The main diagonal elements in I-B
must be positive and determinant
[I-B| must be negative

(D) The main diagonal elements in I-B
must be negative and determinant
|I-B] must be negative

Given three matrices — A, Band C
with dimensions 3 x 4,4 x2and 2 x 3
respectively, which multiplication one
can calculate ?

(A) Both AB and AC
(B) Both AB and BC
(C) Both CB and CA
(D) Both BA and AB
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34.

35.

36.

In a linear programming problem, the

objective function is always
(A) Cubic

(B) Quadratic

(C) Linear

(D) None of them

For the linear programming problem
Max Z = 2x + 3y, the coordinates of the comer
points of the bounded feasible region are
A(3, 3), B(20, 3), C(20, 10), D(18, 12) and
E(12, 12). The maximum value of Z is

(A) 72

(B) 80

(C) 82

(D) 70

When technical co-efficients of production
are constant, we get the production
possibility frontier with the following
shape

(A) Linear

(B) Convex

(C) Concave

(D)

Kinked

34.
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37.

-38.

39.

In the Ricardian model of comparative
advantage, the opportunity cost of
production of a good in terms of another

good will be

(A) Zero

(B) Increasing
(C) Decreasing

(D) Constant

R. E. Falvey’s model of international
trade under imperfect competition can

be considered as

(A) Neo-Chamberlin model

(B) Neo-Heckscher-Ohlin model
(C) Technological gap model

(D) Product cycle model

Automatic adjustment in Balance of
Payments cannot take place in

(A) Expenditure switching system
(B) International gold standard

(C) Floating exchange rates system

(D) Price-specie flow mechanism
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40.

41.

42.

Among the following identify the
concept that is not associated with

foreign exchange market
(A) Hedging

(B) Snake in the Tunnel
(C) Autonomous flows

(D) Overshooting

Which of the following is considered to
be the dynamic gain from international

trade ?

(A) Efficient allocation of resources

(B) Consumption beyond production
possibility frontier

(C) Reduction in monopoly elements

(D) Lower prices of traded commodities

Which of the following effects of tariffs can
be obtained through general equilibrium
analysis ?

(A) Production effect

(B) Consumption effect

(C) Trade effect

(D) Income Redistribution effect

40.
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43.

44,

45.

46.

The Mint Parity Theory of foreign
exchange is a theory of

(A) Fixed exchange rates

(B) Floating exchange rates
(C) Flexible exchange rates
(D) Multiple exchange rates

In which of the following regional trade
agreements, the highest degree of
economic cooperation is achieved ?

(A) EU

(B) ASEAN

(C) Common Wealth Countries
(D) SAARC

The financial assistance for COVID-19
Social protection, Response programme
was given by

(A) IMF

(B) World Bank

(C) Asian Development Bank
(D) New Development Bank

Buying a faulty second hand car is an
example for

(A) Adverse selection
(B) Free rider problem
(C) Externalities

(D) Market failure
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47. The government role is absolutely
justified in the case of provision of goods
with
(A) Market external effects
(B) Non-market external effects
(C) No externalities

(D) Positive externalities

48. Collusion does not result in
(A) Higher prices
(B) Discouragement to new firms
(C) More profits

(D) Lower prices

49. The relationship between the tax rate and
tax revenue is explained by

(A) BARS curve
(B) ISO-revenue curve
(C) Laffer curve

(D) Dalton curve

50. Vertical equity in taxation means

(A) People in urban areas have to pay
more tax

(B) People with greater ability have to
pay more tax

(C) People with equal ability have to pay
same tax

(D) People in the same region have to
pay the same tax
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51.

52.

53.

54.

In the case of proportional tax

(A) The marginal tax rate is greater than
the average tax rate

(B) The marginal tax rate is lesser than
the average tax rate

(C) The marginal tax rate is equal to the
average tax rate

(D) The relationship between marginal
and average tax rates cannot be
predicted

The shape of the Laffer curve is
(A) Downward sloping

(B) U-shaped

(C) Inverted-U shaped

(D) Exponential

The law of increasing state activities was
formulated by

(A) Adulf Wagner

(B) Peacock — Wiseman
(C) Dalton

(D) Musgrave

The classical economists advocated
(A) Deficit Budget

(B) Surplus Budget

(C) Balanced Budget

(D) Unbalanced Budget
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55.

56.

57.

58.

To control depression, the government
should

(A) Increase the tax rates

(B) Not impose new taxes

(C) Reduce public expenditure
(D) Not repay public debt

The next best alternative cost is
known as

(A) Real cost

(B) Money cost

(C) Opportunity cost
(D) Variable cost

An asset that serves as a medium
of exchange be included empirical

measurement of money, relates to
(A) Transaction Approach

(B) Liquidity Approach

(C) Traditional Approach
(D) Classical Approach

An instrument that a corporation has
received a loan and has promised to pay
the lender a specific amount of money at
specific future dates, is
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59.

60.

61.

62.

Who invented ATM used by all
Commercial Banks in India ?

(A) John Shephard Barron
(B) Ralph Schneider

(C) Frank McNamara

(D) A. T. Millan

Which one of the following is not the
function of the RBI ?

(A) Issue of bank notes

(B) Custodian of cash reserves of
commercial banks

(C) Accepting deposits and lending loans
to public

(D) Controller of income and credit

When was the paper currency first
introduced in India ?

(A) 1542
(B) 1611
(C) 1705
(D) 1861

Which one of the following is not a finance
company ?

(A) Hire-purchase Finance Company
(B) IRDA

(C) Mutual Benefit Finance Companies

(D) Loan Companies
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63.

64.

65.

66.

RBI ensures that banks operate within the
set of norms by conducting
inspections and monitoring.

(A) On site, off site
(B) Off site, on site
(C) On site, field
(D) Field, on site

Which one among the following
organisation has not started
commercial banking activities ?

(A) UTI
(B) IDBI

(C) ICICI
(D) SIDBI

NBFCs issue commercial papers when
their net worth is atleast

(A) Rs. 100 crore
(B) Rs. 10 crore

(C) Rs. 200 crore
(D) Rs. 500 crore

Which of the following is not an indicator
of economic development ?

(A) Fall in regional disparities
(B) Fall in the poverty levels
(C) Fall in the unemployment rates

(D) Fallin the literacy rates

63.

64.

65.

66.

AWRDL A BVRYM
Brisvet gzl wrelaud A ouoiadl sl
AN D Y A-D, s RGN YL ¥
Welld, spistor 8.

(A) ¥ e, g e
(B) Ay W, VA W
(C) 0 e, fles
(D) Qes, 20 wde

QA4 58 A, alfoerlls vi-dl
gkl ug & Al ¢

(A) UTI
(B) IDBI
(C) ICICI
(D) SIDBI

NBFC, dxallug sl 2l & B 3 AR
el el el LS .

(A) 3L 100 &S
(B) 310 &R
(C) 3LRoo S
(D) 3. oo &S

D2l @ 2ufls B yus Al 2
(A) UBRLS HURAAARAHL 48

(B) oloudAl 2aRMi QAL

(C) AQovoudlAl g3l e

(D) =aRdl U 4l




67.

68.

69.

70.

The economist(s) who emphasized the
importance of ‘Divergent Investments’ in
economic development was (wers)

(A) Ragnar Nurkse and Rosentsin
Rodan

(B) Hirschman
(C) Nicholas Kaldor
(D) Joseph Schumpeter

The Golden Age Equilibrium in the
Mrs. Joan Robinson’s model indicates

AN AK N K
A =% ® W=
(C) AN = AK (D) N=K

‘The economist who is associated with
the Endogenous growth model’ is

(A) Schumpeter
(B) J. R. Hicks

(C) Paul Romer

(D) Paul Samuelson

Which of the following goal is
commonly found in the first four of
the Millennium Development and
Sustainable Development goals
announced by UNDP ?

(A) Zero Hunger

(B) No Poverty

(C) Gender Equality
(D) Quality Education
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71.

72.

73.

74.

The methodology to measure poverty
in India after independence was first
devised by

(A) D. T. Lakadawala
(B) Y. K. Alagh

(C) Suresh Tendulkar
(D) C. Rangarajan

If the Lorenz curve coincides with the
diagonal of the box diagram, then the
value of the Gini co-efficient will be
equal to

(A) One

(B) Zero

(C) Less than one but greater than zero
(D) Greater than one

The term ‘Invisible Hand’ is associated
with

(A) Ricardo

(B) J. S. Mill

(C) Adam Smith

(D) Karl Marx

“Health is a state of complete physical,
mental and social well-being and not
merely the absence of disease and
infirmity”. This definition was given by

(A) ICMR
(B) UNSCO
(C) UNDP
(D) WHO
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75.

76.

77.

78.

The gender roles are determined by the
(A) Birth

(B) Family

(C) Society

(D) Economy

Environmental quality is considered
to be a public good because, its
consumption is

(A) Non-rivalrous
(B) Non-excludable

(C) Both non-rivalrous and
non-excludable

(D) Neither non-rivalry nor
non-excludable

In which of the following situations the
market failure does not take place ?

(A) Presence of externalities
(B) Presence of monopoly
(C) Information asymmetries
(D) Perfect factor mobility

“Under the conditions of complete
competitive markets with no transaction
costs, bargaining between the groups
over property rights will lead to an
optimal outcome”. This is

(A) Heckscher-Ohlin Theorem
(B) Coase Theorem

(C) Stolper-Samuelson Theorem
(D) Rybczynski Theorem
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79.

80.

81.

82.

Which of the following criteria is not
generally suggested to rank and select
mutually exclusive projects ? '

(A) WTP = WTA
(B) NPV > 0

(C) B/C > 1

(D) IRR

The most common example of the
Hedonic pricing method is

(A) Real estate market
(B) Stock market
(C) Livestock market

(D) Food grains market

The optimum population is that ideal size
of population which provides

(A) High income per head
(B) Maximum per capita income
(C) High level of welfare

(D) Maximum social welfare

Identify the concept which is not related
to morbidity analysis.

(A) Health
(B) Sickness
(C) Disability
(D) Fertility
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83.

84.

85.

86.

According to United Nations Population
Fund, what is the age group of the
working population ?

(A) 15-64 years
(B) 18-62 years
(C) 16-60 years
(D) 17-65 years

In which country, the demographic
dividend is the highest ?

(A) China
(B) India
(C) Pakistan
(D) SriLanka

From which neighbouring country,
maximum migrants come to India ?

(A) Pakistan
(B) Bangladesh
(C) Nepal

(D) SriLanka

What are the major sectors of Indian
Economy ?

(A) Primary Sector
(B) Secondary Sector
(C) Tertiary Sector
(D) All of the above
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87.

90.

What is the age limit of a Farmer to create
retirement corpus under Pradhan Mantri
Kisan Mandhan Yojana ?

(A) 50 years
(B) 40 years
(C) 60 years
(D) 45 years

Where is the largest Foreign Exchange
Market in the World ?

(A) London
(B) New York
(C) Tokyo
(D) New Delnhi

A deficit balance of payments refers to

(A) Export of more goods and services
than import

(B) Import of more goods and services
than export

(C) Equal level of import and export of
goods and services

(D) Any of the above cases possible

The National Commission on Farmers
under the Chairmanship of Dr. M. S.
Swaminathan was constituted by the

(A) Janata Government in 1997
(B) BJP Government in 1999
(C) UPA Government in 2004
(D) NDA Government in 2014
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91. The recommendations of the 15™
Finance Commission of India covers
the period of

(A) 2015-16 to 2020-21
(B) 2019-20 to 2023-24
(C) 2020-21 to 2024-25
(D) 2021-22 to 2025-26

92. Which city is not figured in the first list
of 12 cities under National Heritage City
Development and Augmentation Yojana
announced in 2015 ?

(A) Kancheepuram (B) Tirupati

(C) Velankanni (D) Warangal

93. Deen Dayal Antyodaya Yojana — National
Rural Livelihoods Mission relates to

(A) Potable water
(B) All weather road
(C) Housing loan
(D) Self-help groups

94. Who, in India has Constitutional power
to set up Finance Commission ?

(A) Prime Minister of India
(B) Supreme Court Judge
(C) The President of India

(D) The Vice-president of India
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95.

96.

97.

The World Trade Organisation was

established in Geneva, Switzerland on
(A) 1 January, 1995

(B) 10 June, 1997

(C) 1 January, 1999

(D) 1 December, 1996

As per the Wold Bank Report June, 2021,

the Indian GDP is forecasted to grow by
(A) 8.3 percent
(B) 7.3 percent
(C) 6.3 percent

(D) 3.8 percent

A public-private partnership model that
bridges gap of infrastructure in urban

areas is,

(A) COLT
(B) MOLT
(C) BOLT

(D) DOLT
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- 98,

The organisation which has the power

- to regulate and monitor the operations

of stock exchanges in India is

~ (A) IRDA'

(B) NASDAG
(C) RBI

(D) SEBI

99.

Which one of the following Act aims to

~ introduce transparency in India’s fiscal

100.

management systems ?

(A) FRBM Act:

(B) RBI Act

(C) Foreign Exchange Regulation Act
(D). Indian Competition Act

The Gini coefficient or Gini Index is a

- statistical measurement of distribution of

- (A) Demand and supply of goods

(B) Income or wealth of citizens of a
country

~ (C) Food and clothes of people in a

country

(D) None of the above
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